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1. kA

Bl 1 SRR T (X) = (ax—1)(x+1).

(1) Ha=1F, R f(x)7FXIE[-12] L REE;

CIDD & R f(X) £ X TE] [-1, +00) E2IPREL, K a AYHUEVEH;
(D iR T x A% () <0.

fifE: (1) Ma=1mf, f(x)=x*-1,
R % T (X) 7EIX 8] (=00, O] Frpif ik, 7E[X[8][0,-+o0) - rpLiffisiis,
prk, f(x) X1 [-1, 2] s MEy F(0)=-1,
N f2)> (1), ik f(x) fEXE[-12] Lokt f(2)=3.
f () 7EX 18 [-1, 2] LrfsEch [-1,3].
(I HKa=0m, f(X)=-x-1, fEXA[-1+0) FREEE, FFEHE.

Baz0nf, FHFEE f(X) EXIA [ +0o) F2u ek,

Ma<o, ﬂéﬁ—l, Fiel-1<a<0, Fibla fi i [-10].

D o, EA%NR (ax-1)(x+1) <0.
Ba=0m, xX>-1.
2a >0k, (x—l)(x+1)<0, ﬁﬁ’%—1<x<1_
a a

wa<0n, (x—é)(x+1)>0,



H==-1, fpa=-1n}, x=-1;
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%1>—1,Wa<—1ﬁ,x<—hﬁx>l;
a a

%1<—Ltm4<a<0N,x<£ﬁx>—L
a a

ik, Ma>0n, A h{x

—1<x<é};
a

Ma=0m, ReERmmmE{X|x>-1

H-l<a<0nmf, RS N{X

x<lﬁﬁx>—ﬂ;

a

Ha=-1nf, REanmaen{x|x=-1,
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2. 8. IR A RFHGE
il 2 S f(x) =log,(x+a) (a>0).4 5 M(X,y) LRy =g(x) E% LiEshn,

XTRLE MY (3, 2y) fEpR %L y = f(X) BI%R Li23h, WHREE y =g(x) £kiy = f(X) 1
FHIR BRI
CD) BRT X AR f(x) <1

(1D AMEERI xe(0,1), f(X) KRS BRI LK T, Ka FBUEEE,;
(D WEHFX) = F()-g(x), xe(0,). Ha=1if, K|F(X)|HmAMHE.

Xx+a>0
X+a<?2

X+a>0,
fig: (1) KA |
log,(x+a) <1,

"fibh—a<x<2-a.
%uﬁ$%ﬁ%%%%ﬂﬂﬁ<x<2—ﬂ
(H)m@%2y=m%GXHn,%y:%m%6x+m.
BB £ (X) 1 EER SN g (X) =%Iog2(3x+a).

R, MMEEMxe(0,1), f(X)MEREAEHMKREERN T,



B2 x e (0,1), f(x)<g(x)E'I]Iogz(x+a)<%Iog2(3x+a) RO
M x+a>0,3x+a>0, a>0?%'=x>—%.
fESAMETR, B xe (0,1, log,(x+a)® <log,(3x+a) i,
Hl (x+a)® <3x+a, Hx*+(2a-3)x+a’—a<0.
#h(x)=x*+(2a-3)x+a’-a,
3l x e (0,01, h(x)<0mar,

__[ho) <0,
"“ﬁ{h(l) <0

(D % a=1i, S57EXEO,1) L, f(x)<g(x).
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Wor, fER0<a<i1, Bpa g (0],

IF)|=9(x) - f(x) zllogz(3x+1)—logz(x+1)
2
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1 1 3x+1
=Zlog,(3x+1)—=lo 1)? = =log, ——
5100:(3¢+ 1)~ log, (x-+1)° = log, =

3x+1 1 (x+1)
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e 70 =T

43x+1=u (I<u <4)'MX:UT_1'
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u 9 u

?\ju+ﬂ24<i—’|ﬂui¥|u:2rﬁ B, AL
u

-rn—\
©|oo

1 - oy 9
é’.x=§ﬁﬂ"%—%%ﬁiz, e xe(01), muta@mk1aj9§.

ﬁﬁu|F(x)|a@B%jzfa;%1|ogz9:|ogzs—g.
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